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T forhed &% @R (v)) ®1 F9g S91RY/ Put a mark (V) against the correct option - 10 x 2 = 20
IEFT W okl ST T HI0T S+ &/ How many degree angles are made on the

9.1

9.2.

9.3.

9.4.

9.5.

semicircle? -

G 270°

(i) 60°

(iii) 360°

(iv) 4 @&l

None of these

ST PRyt foraet i 3o ST &, FiA-1 BRI ®Eei £/ A triangle whose
three sides are unequal is called which triangle -

(i) » GEH R

Right angle triangle

(i) wwfgETg Frys
Isosceles triangle
(ii) fersweg BRg=t

(iv) 3 @ Hi &l

Equilateral triangle

HATg BRI % il FIUT &l 9R1 81T &/ The sum of the three angles of an

equilateral triangle is -

None of these

G 90°

(i) 60°

(iii) 180°

(iv) 99 @ s 72l

None of these

Pr7st % <l ST IUT T 91 &1 8/ The sum of the three interior angles of a

triangle is -

G 90°

(i) 60°

(iii) 360°

(iv) 9 @ His 72l

None of these

I %! T T S H1F1 A &/ What is the name of the longest chord of the circle -

(i) PBr=/Radius

(ii) = i/ Tangent line

(iii) =™ /Diameter

(iv) 9 @ s 72l

None of these
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9.6. (10x 4 5) @ (3x + 2) FT <R ENT -
The difference of (10x + 5) and (3x + 2) will be -
(i) 13x+5 (i) 10x+7
(i) 13x+7 (iv) 7x—3
%.7.  (—1)° F A EFT/ The value of (—1)* will be -
(i 1 (i) -1
(i) 3 (iv) -3
98. ¥ 80° F1 THLE R/ The supplementary angle of 80° in the following is -
G 90° (i) 100°
(i) 130° (iv) 3 & His &l
None of these
9.9. 43 FIHE&FT/ The value of 43 will be -
(i) 12 (i) 16
(i) 64 (iv) 3 & IS 2l
None of these
9.10. UIEURIE (S1EH) SHA F %9 &/ The statement of Pythagoras (Bodhayana)
theorem is -
(i) @) = @) + (T
(hypotenuse)2 = (Perpendicular)2 + (base)?
(i) (TR’ = @)’ + (o)’
(base)® = (hypotenuse)2 + (Perpendicular)2
(i) (@) = (F)” +(IET0)°
(Perpendicular)2 = (hypotenuse)2 + (base)®
(iv) =4 F1E 721 / None of these
=k Tl 8t gfd SR /Fill in the blanks - 10x 2 =20
11, V289 FHFERT ..coovrrrrrrnnnee | /The value of V289 ......cccooeuemnece. |
712, VEFFHTA W oo 3131 1 10T el B |
On forming a linear pair, an angle of .................... is formed.
9.13.  (6x + 9) I (2x + 8) HI AL EM ..coc...oooen |
The difference of (6x + 9) and (2x + 8) will be ....................
914, 2> RIAFEIM v, | /The value of 2> willbe .......cocoe........
9.15. afE 9 1 AW 20 H. &, O SEH! BT oo, EeT |
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9.16. HHSTE RIS 1 9F R0 ..o H1 &l &
Each angle of an equilateral triangle is of ....................
17 4+ 4% =
918, 32x3° HHAFAEE .o, / The value of 32 X 3% .ooeeveennn.
919. 15FTFTERT .ooovrrr | The square of 15 will be ....................
9.20. 811 aﬁﬁ\?& 1 | VOO | The square root of 81 will be ....................
HEl - Shel @M IR/ Match the correct pair - 5x1=05
9.21. 3d F1&ERS / Area of rectangle (@) 25
922, 625 H‘SIH\?'S g2/ Square root of 625 (b) 9
9.23. (—3)% FAWE/ The value of (—3)2 () 1
9.24. 35 x 32 (d) =R xHieR/length x width
9.25. (12)° (e) 37
T 1 @A {5 / Write true or false - 5x1=05
9.26. U TGS TG TRI S @9 &, 98 TgS STgd 2 Feid 2|
A quadrilateral whose all four sides are equal isnot called a
quadrilateral rectangle.
9.27. T GHEY STHEr, TETEeH gl 8 1/All similar figures are congruent.
.28, Rl RIS 3 e & &1 JTIetl 1 AT e T § EHRI S i 2|
In the construction of a triangle, the sum of two sides is always
greater than the third side.
9.29. o SR foregaTl € B PRI ST Sl Sl 2 |
A triangle can be drawn through three non-collinear points.
9.30. W BRI %A 40°, 50° MR 90° &Y, d BRIs Fl T T ST FeHedl 2
If the angles of a triangle are 40°, 50" and 90°, then the triangle
can be constructed.
3fcl &Y I 9/ Very short answer questions - 5x2=10
9.31. ﬁﬂ"iﬁ & 1T F1 §HHd € 2/ What do you understand by quadrilateral?
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9.32. U g 19 40 1. g dig| g1 Tl 391 AW / The diameter of a circle is 40

m. if so, then tell the radius of that circle.

U.33. g i qRM R G ffaw) /
Write the formula for the circumference of the circle.

934, 3 X 4 &I HHE I FIG /Find the value of 3 X V4

.............................................................................................................................

9.35. 169 FI TGS Fd FIACI /Find the square root of 169.

.............................................................................................................................
.............................................................................................................................
.............................................................................................................................

&Y ITY 9=/ Short answer questions - 5x4=20

9.36. &3 FINTT/Solve this: 42 x 430 x 420 x 410

.............................................................................................................................
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9.37. Aldx = 10%,H\TSx + 5 HT AW FMEFT /If x = 10, then find the value of 3x + 5.

.............................................................................................................................

.............................................................................................................................

.............................................................................................................................

.............................................................................................................................

.............................................................................................................................

.............................................................................................................................

.............................................................................................................................

.............................................................................................................................

.............................................................................................................................

-----------------------------------------------------------------------------------------------------------------------------

9.40. &S ®IT8/Solve this -

3 X V25 x4° x 2
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el ST U/ Long answer questions - 2x10=20
941, RIS € ST 0 GFEr & ? BrIs % TR foRaw)
What do you understand by triangle? Write the types of triangles.

.............................................................................................................................
.............................................................................................................................
.............................................................................................................................
.............................................................................................................................

942, PBRMABCH 24 =750° @ £B = 60° 8 al £C 1 A Fd FITT |
In A triangle ABC 24 = 50° and 4B = 60° then the find the angle of 2C

.............................................................................................................................

.............................................................................................................................
.............................................................................................................................
.............................................................................................................................
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